
 
i.5

0 

 
e.50

 

 
i.6

5 

 270 

2 Allen screw 
M5X12  T.B.E.I. 
Cod.201031

2 Plain washer 
5x15 Inox
Cod.406580 4 Gasket 

14x4.9x1.5
Cod.200371

Strap-in stainless Ø67
Cod.300067530

2 Mounting 
plate M5
Cod.204555

Carbon cover
Cod.0814137001

Pipe N°1221
Cod.3014274201

Knurled collar nut M6
Cod.200333

Aluminium spacer
Cod.205771

Knurled collar nut M8
Cod.200298

Aluminium bracket 
Cod.206324

Allen screw 
M6X35 T.C.Z.B. 
Cod.200967

Aluminium spacer
-for allen screw M6-
Cod.205767

Allen screw 
M8X40 T.C.Z.B. 
Cod.200993

Carbon bracket FR2
Cod.308448501

FACTORY S TITANIUM.
silencer Øi 50 
Cod.3014274471

Short helical spring
tensile 
Cod.303949001

E13  92R - 01 10401

Db killer N°57C
3014232801 

Db-killer N°52B
Cod.308437801

ART. 14274ST

BMW R 1200 R / R 1200 RS  
(fits with original panniers) 

SLIP-ON  - FACTORY S -  TITANIUM LIMITED EDITION - APPROVED

Do not use
Aluminium spacer

Cod.205886


	DT-14274ST
	Vista del disegno12
	Vista del disegno13
	Vista del disegno14


